
Converting Fahrenheit and Celsius (J)

-86 °F = °C -132 °F = °C 81 °F = °C

17 °F = °C 52 °F = °C -106 °F = °C

63 °F = °C 4 °C = °F 18 °F = °C

-11 °C = °F -57 °C = °F -7 °F = °C

-32 °C = °F 93 °C = °F 50 °F = °C

-50 °C = °F 45 °F = °C 129 °F = °C

6 °F = °C 80 °C = °F -44 °F = °C

17 °F = °C -28 °C = °F -9 °F = °C

6 °F = °C -89 °C = °F 211 °F = °C

-41 °C = °F 81 °F = °C 19 °C = °F

-56 °C = °F 17 °C = °F -26 °C = °F
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Converting Fahrenheit and Celsius (J) Answers

-86 °F = -65.55 °C -132 °F = -91.11 °C 81 °F = 27.22 °C

17 °F = -8.33 °C 52 °F = 11.11 °C -106 °F = -76.66 °C

63 °F = 17.22 °C 4 °C = 39.2 °F 18 °F = -7.77 °C

-11 °C = 12.2 °F -57 °C = -70.6 °F -7 °F = -21.66 °C

-32 °C = -25.6 °F 93 °C = 199.4 °F 50 °F = 10 °C

-50 °C = -58 °F 45 °F = 7.22 °C 129 °F = 53.88 °C

6 °F = -14.44 °C 80 °C = 176 °F -44 °F = -42.22 °C

17 °F = -8.33 °C -28 °C = -18.4 °F -9 °F = -22.77 °C

6 °F = -14.44 °C -89 °C = -128.2 °F 211 °F = 99.44 °C

-41 °C = -41.8 °F 81 °F = 27.22 °C 19 °C = 66.2 °F

-56 °C = -68.8 °F 17 °C = 62.6 °F -26 °C = -14.8 °F
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